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Command Window IR————
_ gilesth gileshome2.m #
commandwindow
clear
il 0.5000 15000 2.5000 . 4.5000 5.5000 6.5000 7.5000
close all
syms y(t) a
x § r0,05:7.5] L shhham (t) =
shhham £ diff (y,t) — 51-0.025%y n |
shhham? 8 diff (y,t) — -0.025%y 451 di &£ (vi(T) ) se)t = isiisiiv (el a0
s f dsolve (shhham)

s § dsolve (shhham?2)
shhham2 (t) =

diff (v (), = 51 oivi(ch a0

Current Folder
l*exp (-t/40) + 2040

‘Workspace
| Name ~ Value
€] 2 Ix1 sym
B s Ix1 sym
| shhham Ix1 symfun
€| shhham2 Ix1 symfun
E t Ix1 sym
b x [0,0.5000,1.5000,2.500...

& y Ix1 symfun




¢ - illl . __'- dow
=“h&e&r
clc

close all
.53m5 t

(50/0.05) +((50/1.0025) *sin(t) )+ (((50*(0.05)) /1. unz&y cOS |
gg 1000- [Hﬂﬂ*expf -0.05*t) )

uddvalues 1:2:500
evenValues E 2:2:500
ym & double (subs(y, oddvalues))

ymm E double (subs (ym, evenvValues))
totTime % 1:1:500

timeTrans = totTime'

¢ £ reshape([yn,ymm], (], 1)

combVal = double (c)

plot (totTime, c)

grid on
- grid minor
@L'ilﬂheli‘T{mln} ). ylabel ("V(litre)"' )
. Enl . header & {'t(min)"', '"V{iLitre)" }l
3 ite['cdevbesdata.xlsx', col. &
E_tzlm:l.t.e.[‘ odevhesdata . xlsx’ . timeT,

.M'.}. = __ -1__ '.
=itql‘ndevhe5daua xlsx"
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